
9924DB - BANDSCHUURMACHINE 76MM

1
2
3
4
5
6
7
9

10
11
12
13
14
16
17
18
19
20
22
23
24
25
26
27
28
29
30
31
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50
51

911263-2
343270-1
225008-5
222010-9
156490-6
181030-1
643600-9
651235-2
528353-0
411322-7
211093-4
681623-9
513294-3
211093-4
263002-9
263013-4
911270-5
411321-9
911158-9
257504-5
P-12918

682504-0
687001-1
911133-5
251815-0
253707-9
231225-7
411594-4
152208-3
911243-8
241611-4
911213-7
343271-9
312809-1
911133-5
253922-5
152104-5
253922-5
151189-8
911213-7
212004-2
221193-2
211093-4
152206-7
222011-7
911133-5

Schroef 5X40
Snaarkap 9900B-9924Db
V-Snaar 5-304 9900B-9924Db
Snaarschijf 5-25L 9900B-9924Db
Motorhuis Compleet 9924Db
Koolborstel Set Cb-100 A
Koolborstelhouderdop
Schakelaar Sw-91 6512352 A
Veld 9900B-9924Db
Tussenplaat 9900B-9924Db
Kogellager 6200
Isolatiering A
Anker 9900B-9924Db
kogellager 6200
Rubber Pen 4
Rubber Pen 4
Veldbout M5X45
Handvatdeksel 9900B-9924Db
Schroef 4X30
Bus 6
Kabel 5 Meter 2X1,5
Kabeltule 10-85
Klemstrip
Schroef 4X18
Vastzetschroef M6X25
Sluitring 16
Drukveer 16
Drukplaat  9924Db
Stofafvoerhuis 9900B-9924Db
Schroef 5X25
Waaier 74
Schroef M5X12
Luchtgeleider 9900B-9924Db
Stofafvoer Deksel 9900B-9924Db
Schroef 4X18
Schotelring M12
Spanrol 9900B-9924Db
Schotelring M12
Frame 9924Db
Schroef M5X12
Naaldlager 810
Tandwiel 10 9401-9402-9924Db
kogellager 6200
Tandwielhuisdeksel 9900B-9924D
Snaarschijf 5-45 9900B-9924Db
Schroef 4X18

1
14
22
16
35
12
4

21
33
6

17
3

44
17
1
1
1

16
1
1

23
7
1
1
4
1
1
1

25
1

16
1

11
21
1
2

27
2

44
1

14
23
17
19
23
1

NR PRIJS-
GROEP

ART. NR OMSCHRIJVING

52
53
54
55
56
59
60
61
62
63
64
65
66
67
68
69
70

961052-5
253312-2
221070-8
263002-9
345164-6
911111-5
911114-9
253922-5
254202-2
151113-1
912227-9
155326-6
961052-5
325458-5
163104-0
323634-5
231033-6
423036-6
423035-8

Borgring S-12
Dunne Sluitring 12
Tandwiel 48 9900B-9924Db
Rubber Pen 4
Voetzool
Schroef 4X10
Schroef 4X10
Schotelring M12
Inlegspie 4
Aandrijfrol
Verzonken schroef
Slijtstrip 9900B-9924Db
Borgring S-12
Spanrol-As 9900B-9924Db
Spanrolarm 9924Db
Ondersteunings Pen 9900B-9924D
Drukveer 11
Koolstofplaat
Kurkplaat

1
1

24
1

14
1
1
2
2

34
1

13
1

14
23

8
3

13
12

NR PRIJS-
GROEP

ART. NR OMSCHRIJVING02-2002


